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characteristic painter scientific conclude conclusion

analyse defeat expert attend physician
expose cure challenge victim absorb
suspect enquiry neighbourhood severe pump
foresee blame pollute handle link
announce instruct construct construction contribute
firework chart positive movement backward

enthus1astlc cautious reject universe
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_ put forward draw a conclusion expose...to link...to...

~ apart from (be) strict with make sense
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=

. e sb/sth is so...that.. e My greatest problem will be to...
: e [t would never.. .untll. . e [ need to be/become/practise...

e sb suggested that sb/sth (should) do... * You can recognize. ..because. ..
el always wanted to...because... e [ am/have...with...

e
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1. What does the woman mean?
A. It’s about 12 o’clock.
B. She’ll meet the man at 12 o’clock.
C. She doesn’t have time to talk.
2. Why will the woman NOT go to the zoo tomorrow?
A. The man’s son is too young.

B. She’ll go shopping tomorrow.
C. She’ll have a meeting tomorrow.
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3. Why does the woman want to work for the company?
A. Because the company respects her.
B. Because of the company’s popular products.
C. Because of the high salary the company offers.
4. What can we learn from the conversation?
A. The weather may get even colder.
B. The weather will soon get warmer.
C. They are having the coldest winter ever.
5. What does the woman mean?
A. She’s learned a lot from the literature class.
B. She’s written some books about some great works.
C. She’s met some of the world’s best writers.
(ST m 5 BXhiE, E=s.
6. W: When do you plan to make the to tell all the workers?
M: Early next week.
7. W: I spent the whole weekend totally in this biography.
M: And you still haven’t finished reading it?
8. W: All of your classmates seem so about running in the race.
M: But in the end only three of them actually took part.
9. M: Hi, thanks for your help. I guess I can the rest myself. But just in case, are you

going to be around later?
W:1don’t know but you can always ask Judy. She’s really good with these kinds of problems.
10. M: You don’t have enough experience for this role. What makes you believe you are fit for the
position?
W: I’m a fast learner and enjoy learning on the job. My natural skills lie in this area, and I
believe that I could deal with the . Given a chance, I would prove myself.
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1. How many hours will the woman be in New York?
A. Two hours. B. Four hours. C. Six hours.
2. How much money did the woman give away?

A. 13 cents. B. 30 cents C. 33 cents.
3. What time is the woman leaving?
A. At 3:30. B. At 4:00. C. At 4:30.

4. When can the man see the headmaster?
2 A. At 9:30. B. At 11:45. C. At 12:40.



5. How many friends can the girl invite?

A. Four or five. B. Two or four. C. Two or three.
6. How much did the woman pay for the cap?

A. Ten dollars. B. Forty dollars. C. Fifty dollars.
7. When is Jessica’s birthday?

A. Sep. 8. B. Sep. 9. C. Sep. 10.
8. When did the woman arrive?

A. At 8:00. B. At 8:30. C. At 8:45.

9. How long did it take the man to write his paper?
A. More than an hour and a half. B. Less than an hour and a half.  C. Not more than half an hour.
10. What is the man’s room number?
A.215. B. 250. Ci, 2565,
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1. Where does the woman want to go?
A. The Science Museum. B. The Art Museum. C. Bus Station.
2. What does the man mean?

A. He likes biology enough to continue with it.

S)ISOUAIIS JBAIS) | Jiu()

B. He hasn’t taken enough courses in biology.

C. He doesn’t want to take any more science courses.
3. What can be inferred about the man?

A. He can’t understand the instructions.

B. He doesn’t have a computer.

C. He has a degree in computer science.
4. What can we learn from the conversation?

A. The man thought the experiment was well done.

B. The man finished the experiment last night.

C. The man had expected the experiment to be easier.
5. What does the man mean?

A. He needs another job as research assistant.

B. He assists Professor Williams with his teaching. 3

C. He is doing research with Professor Williams.
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6. What was the news about?
A. The space station. B. The space. C. The astronauts.
7. Why is the man interested in such news?
A. He is an astronaut.
B. He hopes to go to the moon.
C. He wants to do research in space.
Wrk 7 Bobbkl, [R5 8. 9 .
8. What do you think the woman is?
A. A librarian. B. A shop assistant. C. A secretary.
9. What is the woman’s suggestion?
A. Buying some books on computers.
B. Borrowing some magazines.
C. Asking some experts for advice.
Wreh 8 BUbEE, [EI%5 10 % 13 .

10. What are the speakers mainly discussing?

A. Astronauts’ clothing. B. Products made in space. ~ C. Problems in manufacturing.
11. According to the conversation, what is the likely use for the beads?
A. Medical research. B. Children’s games. C. Jewellery settings.

12. According to the man, why did astronauts make the beads in space?
A. To produce them more cheaply.
B. To make them lighter.
C. To make them perfectly round.
13. What material were the beads made of?
A. Space particles. B. Plastic. C. Precious stones.
Wras 9 Bkt kel RIS 14 2 17 .
14. What are the two speakers mainly discussing?
A. A way to make fuel oil less polluting.
B. A new method for finding underground oil.
C. A new source of fuel oil.
15. How did the woman learn about the process she describes?
A. She was doing research for a paper on it.
B. She heard about it in class.
C. She was told about it by her roommate.
16. In the process described by the woman, why is the coal burned?
A. To produce a gas containing carbon and hydrogen.
B. To heat the reactors.
C. To prevent dangerous gases from forming.



17. What does the woman mention as a disadvantage of the process she describes?
A. Tt hasn’t been fully tested.
B. It’s quite expensive.
C. The gas it produces is harmful to the environment.
WreR 10 BeAth), [EI228 18 % 20 &,
18. What is this passage mainly about?
A. The difference between classical music and rock music.
B. Why classical music is popular with maths students.
C. The effects of music on the results of maths tests.
19. Why can classical music play a positive role in problem solving?
A. It excites your nerve activity.
B. It strengthens your memory.
C. It keeps you calm.
20. What is one of the findings of the research?
A. The more you listen to music, the higher your test scores will be.
B. Music, whether classical or rock, helps improve your memory.
C. The effects of music on reasoning do not last long.
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1. How much will the woman pay if she buys two skirts?

A.$18. B. $19. C. $20.
2. What are the speakers talking about?

A. A child. B. A room. C. A present.
3. What will the speakers discuss?

A. Areport. B. A computer. C. A report on computer.
4. What was the man reading?

A. English books. B. English magazines. C. English newspapers.
5. How are the guests going to Washington?

A. By plane. B. By car. C. By bus.
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6. What does the woman want to book?
A. A room. B. A taxi. C. A ticket.
7. Where is the woman going?
A. To the airport. B. To the railway station. C. To another hotel.
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8. Who are the two speakers?
A. A passer-by and a policeman.
B. A passer-by and a driver.
C. A passenger and a taxi driver.
9. What is the woman’s house number?

A. 1323. B. 3023. C. 4023.
10. Why can’t the man turn left?
A. Tt is rush hour. B. It is a one-way street. C. The street is too narrow.

Wrsh 8 BUbEL [EI%ER 11 & 13 .
11. What are the speakers talking about?
A. Popular sports events.
B. TV programmes people like best.
C. Things people do after work.
12. How did the woman do the research?
A. She talked to people.
B. She sent letters to people.
C. She collected information from newspapers.
13. What do most people do in their spare time?
A. Go to movies. B. Read books. C. Watch TV.
Wrek 9 Bobbkl, [BIESE 14 2 17 .
14. Where does this conversation take place?
A. At the airport. B. In a restaurant. C. On the street.
15. Why does the woman like San Francisco?
A. Tt has less traffic.
B. It has the best food and music.
C. People there are friendlier.
16. Where does the woman come from?

A. Pennsylvania. B. San Francisco. C. China.
17. What does the woman think of the man’s English?
A. Excellent. B. Acceptable. C. Strange.

WrER 10 BoARL, [BI%5E 18 2 20 .

18. About what percentage of people are black in Los Angeles?

A. 60 percent. B. 36 percent. C. 16 percent.
19. What do we know about Thomas Bradley?

A. He served three terms in the police.

B. He was born in a farmer’s family.

C. He used to be a poor farmer.
20. Why did Los Angeles voters elect Thomas Bradley as mayor of Los Angeles?

A. He earner a law degree in a night school.

B. They had formed a good opinion of him.

C. There was a large population of black people in Los Angeles.
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~ unite kingdom consist province clarify

~accomplish conflict unwilling union credit
currency institution convenience rough(ly) nationwide
attract architecture collection administration ' port
countryside enjoyable description furnished fax
possibility plus quarrel alike arrange
wedding fold sightseeing delight royal
uniform splendid statue communism thrill
pot error tense consistent
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consist of divide...into... break away (from) to one’s credit

" leave out take the place of break down

e There is no need to do.. e Excuse me, I’m afraid...
e have/get/find/.. +ob]ect+past partzczple e What did you mean by...?
e Worried about..., sb... e I didn’t understand...
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1. What does the woman imply?
A. She believes the ball will be full of fun.
B. She doesn’t like a man invited by Nancy to the ball.
C. She knows Nancy will invite some unpleasant men to her ball.

2. What are the two speakers talking about?
A. The woman’s hobby. B. The woman’s trip. C. The museums.

3. What does the man mean?
A. He was wrong about the wedding date.
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B. Carl’s wedding has been put off till July.
C. He can’t remember when Carl got married.
4. What did the woman buy for her husband?
A. A stamp. B. A watch. C. A toy.
5. What does the woman mean?
A. The man’s parents have already told her about his scholarship.
B. The man should avoid talking about his accomplishment.
C. Others should hear about the man’s accomplishment.
(D) T™mE 5 EXiE, H=E.
6. W: Did you know Mr Miller is ill and Mr White will him for class today?
M: Oh, really? I’'m sorry to hear that.
7. M: Where do you suggest we start making staff cuts?
W: The logical place to start would be in . They are usually overstaffed.
8. M: Sorry to trouble you. But is there any of borrowing a blanket? I feel cold.
W: I think we’ve got one. Could you wait until after take-off please?
9. M: I'm terribly interested in the lecture. I can’t miss it!
W: Well, why don’t you call the dean who the lecture?
M: I’'m afraid it’s not very wise to ask the dean directly.

mmsw-ﬁ@

10. M: I’ve been washing my clothes in the same Laundromat you use, the one near the dorms. But
I can’t stand it that their prices keep going up. I think I might start going to that one over on
2nd Ave.

W: Well the one on 2nd might be cheaper. But for me the of having a Laundromat so

<

close to where I live is worth the extra dollars.

| \\ Listening
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1. Where will the speakers meet?

A. In Room 223. B. In Room 314. C. In Room 340.
2. Where is the woman?
A. In a kindergarten. B. At a theatre. C. In her house.
3. Where are the two speakers?
A. In a restaurant. B. In a hotel. C. In the street.
4. Where does this conversation probably take place?
A. At an airport. B. At a railway station. C. At a department store.
5. Where does the conversation probably take place?
: A. At a railway station. B. At a bus stop. C. On a train.
é 6. Which hotel does the woman live in now?

A. The China Great Hotel. B. The Holiday Inn. C. The Hilton.



7. Where are the two speakers going?

A. To a restaurant. B. To a zoo. C. To a shop.
8. What does the man mean?

A. He doesn’t like the hotel.

B. They can’t afford to stay at the hotel.

C. They do not want to stay at a hotel.
9. Where is the man’s bike now?

A. Under the stairs. B. At the gate. C. In the garden.
10. Where does this conversation take place?
A. At the hospital. B. At the airport. C. At the post office.

E—T(Es5 /08 §ESS, BHRT59)
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1. How many languages can the woman speak besides English?
A.S. B.7. 8.
2. Why does the woman want to go to England?
A. To take language courses.
B. To attend a conference.
C. To visit some friends.
3. Why will the woman go to London?
A. To have a look at London.  B. To go with her friend. C. To spend the weekend.
4. What does the man mean?
A. The man heard of the woman’s leaving from other people.
B. The man heard the news from the woman herself.
C. The man got the news from his friend Winston.
5. What does the woman say?
A. The Thai Air Counter is on the right side.
B. There is a long queue at the Thai Air Counter.
_ C. The British Airways counter is Counter 26.
FZT 5N BE15 S, HS 225 9)
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6. What are the speakers going to do together tomorrow evening?

A. Visit Jane. B. Have dinner. C. See customers.
7. Who probably is Jane?
A. The man’s customer. B. The man’s boss. C. The man’s wife.

Wrsh 7 Bobiel, B 8. 9 .

8. What is the man’s wife?

A. A teacher. B. A doctor. C. An officer.
9. How many hours did the man’s flight last?
A. 70. B. 17. Gy 11

Wreh 8 BUbtkh, [EI%ERE 10 & 12 .
10. Where does the conversation most probably take place?
A. On a plane. B. On a ship. C. In a restaurant.
11. Why is the man worried?
A. He cannot arrive on time.
B. This is his first time abroad.
C. He has never seen his grandson.
12. When did the man first see Europe?
A. Recently.
B. After his wife’s death.
C. During the Second World War.
Wrsk 9 Bkt el [BI%SE 13 & 16 .
13. When will the speakers take their exams?
A. In two weeks. B. In a year. C. In this summer.
14. What is the woman’s mother tongue?
A. Chinese. B. English. C. Not clear.
15. What do we know about the man?
A. His mother tongue is Chinese.
B. He was in China last year.
C. He is more interested in speaking Chinese.
16. What are the speakers mainly talking about?
A. Taking exams.
B. Learning a foreign language.
C. Planning the summer.
Wt 10 Bebbk}, [EI58 17 5 20 .
17. How many planes arrive at or take off from London Airport every hour?
A. Not clear at all. B. About ten. C. Nearly sixty.
18. What is only one square mile in size?
A. The centre of the City of London.
B. The centre of the City.
C. Greater London.



19. Why has London grown quickly in the last century?
A. Every year many people from all over the world move there.
B. It is one of the most important cities in the world.
C. It is the meeting point for Britain’s roads and railways.
20. Why do thousands of businessmen from other countries visit London?
A. There are many important banks, companies and factories.
B. It is a pleasant place for a holiday.
C. It has an excellent airport.
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1. Where are the two speakers?

A. In a department store. B. In a clothes factory. C. On a playground.
2. When does the conversation take place?

A. At 4:10. B. At 4:50. C. At 5:10.
3. What can we learn from the conversation?

A. The woman does not get along well with the man.

B. The woman does not get along well with her roommate.

C. The man will talk with the woman’s roommate.
4. What does the woman mean?

A. She feels better. B. She has a cough. C. She feels worse.
5. Where are the speakers?
A. On the first floor. B. On the fourth floor. C. On the fifth floor.

FIWEE 2/ BE 159, HH 189
UrRTE 4 B SBHEEH JLAME, MWEHFTAH A B. C ST
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Wrsele, &/NBR4H 5 BB VRSN 18] . 45 BotHE SE W6 .
Wrsh 6 Beddrl, WIS 6. 7 M.
6. What was the woman doing before she went home?
A. Typing a report. B. Rewriting a report. C. Reviewing a report.
7. Where did the woman have her dinner?

?

A. In a restaurant. B. In her office. C. At home. ¢
Wres 7 Bobkl, &SR 8 & 10 M.
8. Who does the woman want to see?
A. Her friend. B. Her husband. C. Her sister.
9. When will the train leave?
A. At 4:10. B. At 4:30. C. At 5:30.

- § wopSury popun oy, 7 jupn

11



T IGQ@&E%E%%E#SEH»#-B@
<

10. Why does the woman never take a train leaving from Platform 13?
A. She thinks 13 is an unlucky number.
B. It is too difficult for her to walk there.
C. The platform is too high.
Wreh 8 Bobb Rl [EIZEES 11 2 13 .
11. Where does the conversation take place?
A. In a company. B. In a factory. C. In a hospital.
12. Why can’t the woman sleep well?
A. She has been working too hard.
B. She has a family problem.
C. She has a high fever.
13. What does the man suggest the woman do?
A. Take some medicine.
B. Take a holiday.
C. Change a job.
Wrsh 9 BAbRL, [BIZEE 14 2 17 J.
14. What does the woman want the man to read in the newspaper?
A. Ads promoting electric appliances.
B. A notice by the electricity board.
C. The description of a thief.
15. How did the man mentioned in the newspaper try to win further trust?
A. Showing his ID.
B. Wearing an official uniform.
C. Speaking with a proper accent.
16. What is the warning from the police?
A. Not to leave senior citizens alone at home.
B. Not to let anyone in without an appointment.
C. To watch for those from the electricity board.
17. What do we know about the old lady?
A. She was robbed near the parking lot.
B. All her money in the bank disappeared.
C. The pension she had just drawn was stolen.
F=THE3/NE: BNE 1S5S, HD 45D
WE T — B R, K5 18 5 20 =ANMERIE B4R, BB 3 AN HiA .,
WERARLRU, VRoRE A ) B 3 2NN, /N S BB WRse)E, &/NEKAA 15 BB fE
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Doctor’s advice The old man’s reply
__18 won’t help you. I feel quite well now.
Go to bed early, drink milk... I went to bed early, drank a lot of milk...
_19 aday It’s __20 _to start smoking at my age.




